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m2 @3 @ 2 @ 3
1) HEATHS,
6ab=6xaxb £V, 6ab DXEIL 2
2) BERATH 5.
—2rfy=—2XxXzXy &V, —2z% DREIL 3
3) ZHEATHS,
2a DXEUE L, > DXL 2 THEMNS, 2a+b* DREUEL 2
4) ZHEATHS,
xly DXEUL 3, —y OXREIL 1 THENS, 2% —y OREUE 3

% (1) 22+3y (2) —9% +8b
(1) Sz+2y—3x+y =5z—3x+2y +y
=2z +3y
2) —T7a+2b+6b—2a = —Ta—2a+2b+6b
= —9 +8b

1) 5a+4b (2) 3a—70 (3) 4z* (4 -3y (5) a—16b

(1) (@a+7b)+(4a—3b) =a+7b+4a—3b=>5a+4b
(2) (4a—2b)—(a+50)=4a—20b—a—50=3a—"Tb

2% X 8z
2

(3) 2’=222%x8z = =4z?

2z

4) —3(4x—5y)+6(2x —3y) = —122+ 15y + 122 — 18y = — 3y

5 3a—2b)—2(a+5)=3a—6b—2a—10b=a—16b

—2x4y) 22x—-2y—2r—y —3y

r—y 2x+y _ 2(x—y)+
4 8 = 4x2 8 8
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